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PHYSICS AND CHEMISTRY

GENERAL INSTRUCTIONS

Examinea is directed to read carefully the ioliowing
instructions :

1. Examinae must write his/her Roll Number in the
specified box on the top left hand comer of this page.
Answers arg required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

2. Basides illing in the Roll Number, the examinee has to
put his/her signature on the Answer-Sheet and also filt
other required details like Name, Roll Mumber, Question
Booklet code, etc. as indicated on the Answer OMR
Shest. If these details are not filled in by the examinee,
hisher Answer Sheet will not be evaluated.

3. For each question, there are four alternative answers,
out of which only ene is correct, Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

4. There are 32 (29+3) pages in this Question-Bookiet
including 1 page for General Instruclions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of start of the exam.

5. This Question Booklet containg 100 questions from
following subjects :
(1) Physics Q.Nos. 1-50
(2) Chemistry Q. Nos. 51-100

6. Each question carries 1 mark and % mark will be
deducted for each wrong answer.

7. Possession and use of eleclronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, elc., are restricted during the examination,

8. Any leaf from the Question Booklet should not be
detached. Alter the Examination, Question-Booklet
and Answer-Sheet must be handed over 1o the Room
Invigilalor.

9. During examination the examinee will not be allowed
to leave the examination hall {ill the END of the
Examination.
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PHYSICS

1. Aradioactive element X with a half life of
2 hours decays giving a stable element
Y. After atime t, the ratio of X to Y atoms
is1:7, thentimetis

A) 6 hours

B) 4 hours

C) Between 4 to 6 hours
D} 14 hours

2. Three photodiodes D,, B, and D,
are made of semiconductors having
band gaps of 2.5 eV, 2 eV and 3 eV,
respectively. Which one will be able to
detect light of wavelength 6000A” 7

A) D,
B) D,
C) D,
D) D, and D,

3. Which of the following is not a derived
physical quantity ?

A) Speed
B) Volume
C) Force
D) Mass

4. The number of significant figures in
0.07800 is

A) 4
B) 5
C) 2
D) 3
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A) D,

B) D,

C) D,

D) D, 3D,
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5. Acar travelling at 9 ms~! accelerates

and attains a speed of 27 ms-' in 5s,
the distance covered in 5s is

A) 60 m B) 54 m
C) 90m D) 45m

. Aboy walks 5 m towards east and then
turns at an angle of 60° to the north
of the east and walks 5 m. The net
displacement of the boy is

A) 5\3m
B) 1043 m
C) 5m

D) 52m

. A string passes over a smooth puiley
with masses 4 kg and 5 kg attached

to the ends of the string and hanging
vertically. The tension in the string is

A) 49 N

B) 43.55N
C) 54.45N
D) 13.06 N

. A circular disc rotates at 60 revolutions
per minute about an axis passing
through its center. A coin of 18 gis
placed at a distance of 8 cm from the
center of the disc. The centrifugal force
on the coin is

A) 0.088 N
B) 0.057 N
C) 0.044 N
D) 0.075 N
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9.

10.

11.

12.

if the momentum of the body increases
by 10% then the increase in Kinetic

energy of the body is
A) 21%
B) 44%
C) 11%
D) 55%

For which of the following does the
center of mass lie outside the body ?

A) A pencil
B) Adice

C) Abangle
D) A shot put

A steam of water flowing horizontally
with a speed of 25 ms™ gushes out of
a tube of cross-sectional area 10-° m?
and hits a vertical wall nearby. What
is the force exerted on the wall by the
impact of water ?

A) 125N

B) 625 N

C) —650N

D) -1125N

The change in potential energy when

.a body of mass m is raised to a height

nR, from earth’s surface is (R_ = radius
of the earth)
A) mgR_ |
) mg R, [n_ 1]
B) mg HE
C) mg HE[_@_]
n+1

D) mg R
n
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A) 125 N

B) 625 N

C) —650 N

D) - 1125 N
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A) mg R, [%]

B) mg R,

C) mg R [%]

D) mg Re
n
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13.

14.

15.

16.

For a perfectly rigid body

A) Young's modulus is infinite and Bulk
modulus is zero

B) Young's modulus is zero and Bulk
modulus is infinite

C) Young's modulus is infinite and Bulk
modulus is also infinite

D) Young's modulus is zero and Bulk
modulus is also zero

Eight drops of water, each of radius
2 mm are falling through air at a terminal
velocity of 8 cms™. If they coalesce to
form a single drop, then the terminal
velocity of combined drop will be

A) 32cms!
B) 30 cms™!
C) 28 cms™
D) 24 cms™!

Two moles of oxygen is mixed with
eight moles of helium. The effective
specific heat of the mixture at constant
volume is

A) 1.3R
B) 1.4R
C) 1.7R
D) 1.9R

The root mean square speed of smoke
particles each of mass 5 x 107 kg in
their brownian motion in air at NTP. is

A) 3x 102ms
B) 1.5x102ms™!
C) 3x10%ms-!
D) 1.5 x 103 ms-"

13.

14.

15.

16.
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17.

18.

19.

20.

An observer moves towards a stationary
source of sound with a velocity one-fifth
of the'velocity of sound. The percentage
change in the apparent frequency is

A} zero
B) 5%
C) 10%
D) 20%

If a body gives out 10° electrons every
second, how much time is required to
get a total charge of 1 C from it ?

A) 198.2 years
B) 19:82years
C) 1.928 years
D) 1982 years

Electric charges q, q, — 2q are placed
at the corners of an equilateral triangle
ABC of side /. The magnitude of electric
dipole moment of the system is

A) q!
B) 2q!
C) J3q!
D) 4q!

An electric dipole of length 10 cm

having charges + 6 x 1073C, placed at
30° with respect to a uniform eleciric
field experiences a torque of magnitude

6+/3 Nm. The magnitude of the electric
field is '

A) 43 x 10*NC
B) 24/3 x 10*NC™
C) 443 x 108 NG
D) 243 x 108 NG
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Teh g Wi s 10° 39 TEH H ¢ |
388 ford wng 1 1 C =1 Fol A=W
B ?

A) 198.2 a4

B) 19.82 3¢
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A) 4.3 x 10°NC™
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D) 2./3 x 108NC™
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21.

22.

23.

A parallel plate capacitor having plate
area 25 cm? and separation 1 mm is
connected to a battery of 6V, the work
done by the battery during the process
is

A) 8x 10719
B) 4x 1079
C) 8x 1013y
D) 4x 1072

The colour code of resistor is brown,
violet, yellow and gold. Then the value
of the resistance is

A) 0.17 mega ohm + 5%
B) 0.17 micro ohm + 5%
C) 0.7 milli ohm + 5%

D) 0.17 nano chm + 5%

In comparing the resistance of 2 coils
P and Q with a siide wire bridge, a
balance point is obtained when the
sliding contact is 30 cm from the zero
end of the wire. The resistances P and
Q are interchanged and the balance is
obtained at 120 cm from the same end.
The length of the bridge wire is

A) 150 cm
B) 200 cm
C) 250 cm
D) 100 cm
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24. Two small circular loops, carrying 04, 2 B gea wid R A fga T
equal currents are placed with the 3 f ¥ R STgER I S A
geometrical axes perpendicular to TR H a1 fig O A

each other as shown in figure. The .
magnitude of net magnetic field YR AR R

produced at the point O is p

< X > IG ------- ‘}O
1@ ——————— -E:io H

ﬂg,___

¢ IHZ
A) B= = »
A) 5 Ho IR2 Jé(x2+R2)/2
3
Va(x? "'Hz)/z B) Zero
B) Zero
PnIHz
IR? 8= 2, m2\
C) B= Ho 4TE(X +H)2
2 p2\2
411:()( +R ) D B— poIHZ
IR? RO T =
D) B= Ho 2 (x* +R?)
2(x2+H2)%

25. The S! unit of magnetic permeability is 05, A TuTEE 1 S| TR B

A) WbA™' m A) WbA™'m
B) WbA™ m™ B) WbA™' m™!
C) Hm C) Hm

D) Tm~A ' D) TmA

A 5 JCECE (P&C)




26.

27.

28.

Two similar coils of radius R and number 26.
of turns N are lying concentrically with
their planes at right angles to each
other. The currents flowing in them are
I and 2I respectively. The resultant
magnetic induction at the center

will be

A) Ho NI
R

2R

\/gpoNI
) 2R

D) \/gl-lu NI
2R

An AC voltage of 100 V, 50 Hz is 27.
connected across a 20 Q resistor
and 2 mH inductor in series. The
rms current in the circuit is

A) 10 A
B) 5A

C) 15A
D) 25A

If Vg, V, and V_ are the speeds of 28.

gamma rays, X-rays and microwaves
respectively in vacuum, then

A) Vg<Vx<Vm
B) V9>V,‘>Vm
C) Vg>Vx<Vm
D} Vg:Vx=Vm
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A) Ho NI

B) =2 —
\/5}.10 NI
2R
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C)

100 V 31R 50 Hz %1 T% Wl 952+ 20 Q
& wfokias ot 2 mH % 3R & srgen §

31 & | afe  emuqey fga ¢ |
A) 10 A

B) 5A
C) 15A
D) 2.5 A
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B) V>V >V
C)V,>V <V,
D)V, =V, =V,
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29.

30.

31.

A convex lens is made of glass of R.l.
1.5. If radius of curvature of each its
two surfaces is 20 cm, the ratio of the
power of the lens, when placed in air to
its power when immersed inside a liquid
of refractive index 1.25is

A) 5
B) 2
C) 25
D) 0.4

The angle of minimum deviation for prism
of angle % is % . The refractive
index of the material of the prism is

p) V3
B) V2

o %
D) %

A diffraction pattern is obtained using
a beam of red light. What happens if
the red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart

D) Bands disappear altogether

29.

30.

31.
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A) 5

B) 2

C) 25

D) 0.4
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D) %
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32.

33.

34.

35.

Light of frequency 7.21 x 10" Hz is
incident on a metal surface electrons
with a maximum speed of 6 x 10°ms™
are ejected from the surface. The
threshold frequency for photoemission
of electron is

A) 2.32 x 10" Hz
B) 2.32 x 10'2 Hz
C) 4.74 x 10™ Hz
D) 4.74 x 102 Hz

A proton, a neutron, an electron and an
o-particle have same energy. Then their
de-broglie wavelengths compare as

A) lp=ln>le>lu
B) A, <A =) <A,
C) A, <A, =R >4,
D) A.e:lp:?tn:?ta

A hydrogen atom initially in the ground
level absorbs a photon and is excited
at n = 4 level then the wavelength of
photon is

A) 790 A°

B) 870 A°

C) 970 A°

D) 1070 A®

The half life of polonium is 140 days.
In what time will 15 g of polonium be
disintegrated out of its initial mass of
16g7?

A} 230 days

B) 560 days

C) 730 days

D) 160 days
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7.21 x 10" Hz Agfti 1 W1 T Uifeas
T3 | AW sar e 16 x 1057, 8.1
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A) 2.32 x 10" Hz

B) 2.32 x 10"2 Hz

C) 4.74 x 10" Hz

D) 4.74 x 102 Hz

TF WA, TF g, TF FoagH IR ™
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A) A=A > A > A,

B) }\.a<lp=7un<le
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A) 790 A°

B) 870 A°

C) 970 A°

D) 1070 A°
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A) 230 feam

B) 560 fdsa

C) 730 feam

D) 160 fgaw
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36. In a transistor connected in common
emitter mode, R, =4 kQ, R,=1 kQ,
e = 1' mA and | = 20 pA. The voltage
gain is
A) 100
B) 200
C) 300
D} 400

37. Line of sight propagation is
A) Ground wave propagation
B) Sky wave propagation
C) Microwave propagation
D) None of these

38. In the circuit the output y becomes
zero for the inputs

—

))——OY
C

A) A=1,B=0,C=0

B) A=0,B=1,C=1
- C)A=0,8=0,C=0

D) A=1,B=1,C=0

39. Two nuclei P and Q have equal number
of atoms at t = 0. Their half lives are
3 hours and 9 hours respectively. Their
ratios of rates of disintegration after
18 hours from the start is

A)2:9
B) 3:16
C)1:10
D) 5:8

D)5:8
A Page No. 13

36. AT Seaer yomedt 3 92 U i i
R =4k R =1kQ I =1 mA 3T
|, = 20 pA. I Slees B

A) 100
B) 200
C) 300
D) 400

37. gfemH @R
A) S a0 T
B) AT A T
C) g&m a1
D) 3 & = T
a8, wibed T % QSR Y
TREBA TR |

Ao—]

Bo—1

))——GY
C

A) A=1,B=0,C=0

B) A=0B=1,C=1

C) A=0B=0,C=0

D) A=1,B=1,C=0
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d@lw%m@aﬁmm:sﬁ%aﬂt
g2 % | TN A 18 H e I fareed Hl
i 1 31T E
A) 2:9
B) 3:16
C)1:10
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40.

41.

42,

In an inductor of self inductance 2 mH,
current changes with time according
to relation I = 2. At what time emf is
zero ?

A) 4s
B) 3s
C) 2s
D) 1s

A circular coil of 25 turns and radius of
12 cm is placed in a uniform magnetic
field of 0.5 T normal to the plane of coil.
If the current in the coil is 5A, then total
torque experienced by the coil is

A} 1.5 Nm
B) 2.5 Nm
C) 3.5 Nm

D) zero

A cylindrical rod is reformed to half
of its original length keeping volume
constant. If its resistance before this
change where R, then the resistance
after reformation of rod will be

A) R
B) R,
c) 3%

D) B4
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R O

2 mH -3 I T IE A [ = 120t
Y & AIER foga 999 F 31U Rafda
et 3 1 e e emf @M ?

A) 4 s

B) 3 e

C) 2 ¥%hg

D) 1 9%3

T 12 . e 3TR 25 qorEl areft

JATRR FHelt 0.5 T & TAH gaehig &7 <1t
gt Fawd daaa B, @R 19f

Tt A forqa 5A 2, ) Feelt wam e
Fel T @

A) 1.5 Nm
B) 2.5 Nm
C) 3.5 Nm

D) ¥
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A) R

A
c) 3f

A
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43. Foragasof molecular weight M specific
heat capacity at constant pressure is

c
r=—
CV

R
A T3
R
-1
rR

M(r—1)
D rRM
D (r-1)

44. Aparallel plate capacitor has & uniform
electric field E in the space between
the plates. If the distance between the
plates is d and area of each plate is A,
the energy stored in the capacitor is

1
A) P € oE2
E2Ad
€
1
C) -é € oEaAd
D) e OEZAd

B)
r

C)

B)

45. AB is a wire of potentiometer with the
increase in the value of resistance R,

the shift in the balgnce point J will be

—E—O—

e an
A) towards B

B) towards A
C) remains constant

43, T M A0TF e areht frg 6t Fraa ae T

ﬁﬁQEWNmm%b=5ﬂ

S

D) first towards B then back towards A D) w& BH s st A
A page No. 15 5 JCECE (P&C)



46.

47.

48.

A domain in ferromagnetic iron in

the form of cube is having 5x10'°
atoms. If the side length of this
domain is 1.5 um and each atom

has a dipole moment of 8 x 10-2¢ Am?,
then magnetisation of domain is

A) 11.8 x 105 Am™
B) 1.18 x 10% Am™
C) 11.8 x 10°Am™
D) 1.18 x 10° Am™
Power dissipated in an LCR series

circuit connected to an AC source of
EMF E is

2
Ez\/ R +(ml_-i)
A) oC
R
2
Ez[Fl2 +(mL - —L] J
B) £
R
E2R

C) >
J R? + (mL -é)

D) E*R :
[R2+(mL—$J }

A ray of light is incident at 60° on
one face of a prism of angle 30° and
the emergent ray makes 30° with the
incident ray. The refractive index of the
prism is

A) 1.732

B) 1.414

C) 1.5

D) 1.33

46.

47.

48.

D} 1.33
Page No. 16

N

JaEEifas e 4 o9 % w9 uw Q5 9
5x10" THIY § | 2 590 & ) o ot ayrd

1.5 pm ¥R 7= e w0 fayefa sl
8 x 10724 Am?R, Y &3 T Yarehiarawr 2

A) 11.8 x 105 Am""
B) 1.18 x 10° Am-'
C) 11.8 x 106 Am™!
D) 1.18 x 105 Am-"

EMF E 31l T AC &9 & 32 & LCR
gac uithe # wfFy wear 2

E’R

[ﬂz " (mL 3 ’—)2]
wC

T 30° HI T1e) FiIsH & 0o welsh W 60° |
Teh WehT¥! shl Tohton ammafare 2t & o sfdm
Tarror ammafera fomeor & e 30° =1 oy Frh
2 | firon =1 atvadie 2
A) 1.732
B) 1.414

C) 15

D)

5 JCECE (P&C)



A

49. Hydrogen atom from excited state
comes to the ground state by
emitting a photon of wavelength L.
If R is the Rydberg constant, then
the principal quantum number n of
the excited state is

AR

——

A) yaR-1

)
B) VAR
AR?
AR—1

C)

AR
D) Va1

50. Select the output Y of the combination

of gates shown in fig. for inputs A =1,
B=0;:A=1,B=1andA=0,B=0
respectively.

Ao__I:—— I v
BO—[——

A) (0,1,1)
B) (1.0, 1)
Cc) (1,1, 1)
D) (1,0,0)

49, )\ TR 1 Toh IS SeqiST e e
e St R & Freran e & o s
2 | 7R R, Yeat fraaiss & @ i foufa i
WY FEeH TS N 8

AR

A) VaR-1

A
B) AR-1

AR?
AR -1

C)

AR
D) yi 1

50, 3M@iA=1,B=0;A=1,B=13N
A = 0, B = 0 % fore T 7 gmife argan
“gR & woew @ Ffa Y g |

T Sy
Bo—l—-—

A) (0,1, 1)

B) (1,0, 1)
c) (1,1, 1)
D) (1,0,0)

5 JCECE (P&C)



51.

52.

53.

54.

CHEMISTRY

The molecule which is having dsp?®
hybridization

A) [NI(CN),]-
B) BIF,
C) PF,
D) SF,

At constant temperature the pressure of
a fixed amount {ie number of moles n)
of gas varies inversely with its volume.
This is known as

A) Boy's Law

B) Boyle's Law
C) Charle’s Law
D) Avogadro Law

One among them is an example for
insulators in solid state but conductor
in molten state.

A} SiO,

B) CaF,

C) CCl,

D) Fe

The type of absorption is highly specific

and takes place at high temperature
with unimolecular layer is

A) Chemisorption

B) Physisorption

C) Chemisorption and physisorption
D) None of the above

Page No. 18

51.

52.

53.

54,

O A0 Y
oA fae
T 19 formt dsp? ErgfsreTeerH 2

A) [Ni(CN), >
B) BrF,
C) PF,
D) SF,

forra aone | g Y u e am
(n T <t EAT) IEF AT & fae
fafery St 2, a8 FEemar €

A) =t %1 fam
B) siae =t fam
C) =ed =1 fm
D) @i w1 e

T A O Y R R N IE

FEIETH o M e w1 & gearerh 8 7
A) SiO,

B) CaF,

C) cCl,

D) Fe

JTITNYYT I 98 YFR S 3= #9 4 RAfire ?
3fR TR W F WY 3T AOHH TS R

A) AT
B) siiferer ramiYr
C) wrEsiNY F sifies g

D) 39 # A $i¥ T
5 JCECE (P&C)
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N AR

55.

56.

57.

58.

Neoprene is synthesized using
monomer.

A) CH, = C - CH =CH,
cl

B) CH,— CH—CH=CH,
cl

C) CH,— CH =CH - CH,

D) CH, - (l_‘, = CH-CH,
C!
The following reaction can be accelerated

in the presence of component
2 KCIO, —» 2 KCl + 30,

A) Manganese dioxide
B) Platinum

C) Iron Oxide

D) Magnisium dioxide

As of now, total number of elements with
atomic numbers placed in the periodic
table is

A) 118
B) 108
c) 119
D) 117

Transformation of benzoyl chloride to
benzaldehyde by the hydrogenation in
the presence of palladium on barium
sulphate is named as

A) Etard reaction

B) Stephen reaction

C) Gatterman reaction
D) Rosenmund reaction

55.

56.

57.

58.

franfs U 39
Fh a8 |

A) CH,= C - CH=CH,
ct

B) CH,— GH - GH=CH,
cl

C) CH, - CH=CH-CH,

D) CH,~ G =CH - CH,
cl
Fraferiaa sifmea

sufeufy & o ol S weRdl # |
2 KCIO, — 2 KC! + 30,
A) TS SRS

B) wiife-™

C) A NFEES

D) AifeEm SRS

_uéaaﬁ

Fdwr i, avad wwef & wwE de it @
o aeE! ) T S R

A) 118

B) 108

C) 119

D) 117

Aferm aere A AT i sufeufa o
TR 10 SSige FATGE i
E R R e A ) S
FEA S |

A) T8 g

B) we ffsran

C) et arffsn

D) derie il
5 JCECE (P&C)



59.

60.

61.

62.

63.

Write the IUPAC name of the following
compound : K,[Fe(CN}]

A) Potassium ferro cyanide (Ii)

B) Hexa cyano ferro potassium

C) Potassium hexacyano ferrate (1
D) Potassium hexacyano ferrate (1)

Most electronegativity element in the
periodic table

A) Br
B} F
C)H
D} O

A metal donot dissolve in concentrated
nitric acid is

A) Al

B) Na

C) Cu

D) Ag

Choose the reagents used to transfer
carboxylic acid to acid chioride.

A) PCl,, PCl,, SOC,
B) HCI, HOCI, SOCt,
C) PCI,, HCI, SOCI,
D) PCI,, PCl,, HCI

An example for a crystal system with
axial distances and axial angles are
azbzcanda=f=y =90

A) ZnSO,

B) Na,.SO,.10H,0
C) CuS0Q,.5H,0
D)} CaCO,

59.

60.

61.

62.

63.

Page No. 20

1 A 0 G

fr=RiRaa @R @1 IUPAC = fafa |
K [Fe(CN),]

A) deRrm H aesEs ()

B) a1 @I ¥R W

C) TweRrm deamar e ()

D) TRRmEs FEEE e (1)

a1rad el # Tt faga—FomeTs
T
A} Br
B) F
C)H
D) O

=g Uy < WiiEd ARl 3w 3 T e
A) Al
B) Na
C) Cu
D) Ag

iR STl i 3T TS H

TR 0 Frer A 8
A) PC\, PCI,, SOCI,

B) HCI, HOCI, SOC,

C) PCl,, HCI, SOCI,

D) PCl,, PCl,, HCI

a1afra g ofie Aafrr =hivT a » b =c 3
o P2y = 90 TN et WoTredl 1 Th
U
A} ZnSO,
B) Na,.SO,-10H,0
C) CuS0,.5H,0
D) CaCO,
5 JCECE (P&C)



A N

64.

65.

66.

67.

One among them is a good reducing
agent

A) H,PO,
B) H,PO,
C) H,PO,
D) H,P,0,

Write the highest order of reactivity for
§,2 reaction

A) HC-Cl
B) H,C - CH,-Cl

CH;
C) HC—- C-Ci
H
CH;3
D) H,C - (?I:— Cl
CH,
Example for strongest reducing agent
amongst all the hydrides of group 15
A) NH,
B) AsH,
C) SbH,
D) BiH,

Rate = K[A]y2 [B]% [CT" order of the
reaction is

A) Second order
B) Half order

C) Third order
D) First order

Page No. 21

64.

65.

66.

67.

i QT are g AfvrE §
A) H,PO,
B) H,PO,
C) H,PO,
D) H2P20.,

s,2 s % fore srfvifsraniirn 1
I 9 B

A) HC-Cl
B) H,C - CH, - Cl

CHs

C) HGC- &-Cl
H
CHs

D) H,C- c:;— cl
CH,

g 15 % wft e 3 & waifes wfwweh
gl i o 3ETE @

A) NH,
B) AsH,
C) SbH,
D) BiH,

= = K[A}% [B]: [CT" i
goft &

A) fedfa Soft

B) = it

C) e Foft

D) wum Aoft

5 JCECE (P&C)



68.

69.

70.

71.

72.

Smoke is an example for
type colloid system with
dispersed phase and
dispersion medium.

A) Aerosol, Liquid, Gas
B) Foam, Gas, Liquid
C) Aerosol, Solid, Gas
D) Foam, Gas, Solid

What would be the IUPAC name and
symbol for the element with atomic
number 124

A) Unbiennium, Ube
B) Unbinilium, Ubn

C) Ununguadium, UUq
D) Unbiquadium, Ubq

Name the compound which is a
colourless explosive solid and has a
pyramidal molecular structure

A) XeO,
B) XeOF,
C) XeO,F,
D) XeF,

IUPAC name of O-chlorotoluene is
A) 1-chloro-2 methyl benzene

B) 2-methyl-4 chloro benzene

C) 2-chioro-2 methyl toluene

D) 4-chloro-4 methyl benzene

Mathematical statement of the first
law of thermodynamics is

A) AU=q+W
B) g=Au+W
C)W=AU+q
D) Au=q—-W

Page No. 22

68.

69.

70.

71.

72.

A T A T

gt aRafr e 3R

AT AR WK i et
oIttt o U FEEE |

A) sfeem, @, i

B) &M, i, T

C) aferA, 3, i

D) wm, id, 3|

mé@nzm@aamumcwaﬁ
REwng?

A) srfaFEA, Ube

B) amfafiferad, Ubn

C) amemafeam, UUq

D) smfeaafsad, Ubq

35 i 1 I 0 T s 3|
v 3T anfoaes Teen Rl S 2
A) XeO,

B) XeOF,

C) XeQ,F,

D) XeF,

O-FeiRieieg™ 1 IUPAC TH 8
A) 1-7ER-2 fyerde S
B) 2-furde-4 <A Sl
C) 2-FN-2 e e
D) 4-aidi-4 frenge sisid
Zefeeh 3 e Fram s itrd sawe
A) AU=q+W
B)g=Au+W
C) W=AU+q
D) Au=q-W
5 JCECE (P&



T A

73.

Name the type of reaction invoived in
the following reaction.

A
2 AUCI, +3 HCHO + 3H,0 —2Au g+ 3 H COOH + 6 HCI

74.

75.

76.

A) Double decomposition
B) Reduction
C) Oxidation
D) Hydrolysis

The enzyme present in the curd is
A) pepsin

B) zymase

C) lactobacilli

D) diastase

The major uses of compound A is in
the preparation of nitroglycerin,
trinitrotoluene etc. then compound A is

A) nitric oxide
B) nitrous oxide
C) nitric acid

D) nitrogen dioxide

NOZ' is an example for
of ligand.

A) hexadentate

B} bidentate

C) monodentate

D) ambidentate

—_—type

Page No. 23

73.

Tttt siffern & it arfifsean &

YR 1 TTH Fard, |

A
2 AuCI+ 3 HCHO + 3H,0 —>2Aug,__+ 3 H COOH + 6 HCI

74.

75.

76.

A) g smgeq
B) 1o=EA

C) o=

D) Siel-3T95eA

=@ 7 Iufeya damew 3
A) I

B) S

C) aelafdet

D) TR

A A 1 JEI4: T ARLCrEIA,

TR AR SR A B ¢ |
o Afm AR

A) T SRS
B) TTggH HiTES

C) e 3t

D) T SRS

NO,” SRR & FerHl Al
ITEW T |
A) weegdl
B) fagdt
C) THad!

D) =gedt

5 JCECE (P&C)



77.

78.

79.

80.

D P

What is the correct order of ionic 77. Brefifas wenfEl 02, F-, Na* R
radius of the following species 0%, F~, Mg?+ 3 Ty frsan 1 et 59 2
Na* and Mg?*?
A) O*> F~> Na*>Mg*

A) 0> F->Na* > Mg* [ . r
B) 0> F~> Na*<Mg* B) Ok e St
e i Mga+ C) 0= > F-<Na*>Mg*

NoE=lgsneg D) O*< F-<Na*<Mg?
D) O* < F-<Na*<Mg*
Choose the expected product ‘A’ of 78, Prefafaa sffsrn & 3oume ‘A’ 1 T
the following reaction. i |

H P
CHa—CHz—CH=CH2+H20 _ CHa—CHz—CH=CH2+H20 ——‘__Ij=-__-*
A) CH,— CH =CH-CH, A) CH,— CH = CH - CH,
OH (|)H
B) CH,—CH,~ CH =CH, B) CH,— CH,~ CH =CH,
OH CH
C) CH,—CH, - CH - CH, C) CH, ~ CH,— CH - CH,
OH OH
D) CH, = G~ CH,—CH, D) CH,= C- CH,~CH,
|
OH - OH

The concentration of hydrogen ion in 79. WA H I TEEIS AR W
a sample of soft drink is 3.8x107 M. 3.8x10~ M &, 61 pH T 8 ?
:tht ;sz its pH ? A) 2.42

) 2. B) 3.42
B) 3.42 0
C) 1.42 I
by 442 D) 4.42
Name the element in the group 16 80. Tg 16 ¥ G B THITEF & CIDIEL
having smallest atomic and ionic radii. BT e aed 1 AW Fasy |
A) O ' A) O
B) S B) S
C) Te C) Tc
D) Se D) Se



0 A

81.

82.

83.

84.

85.

Examples for neutral oxides
A) CO, NO, CO,

B) CO, SO,, SO,

C) CO, NO, NG,

D) CO,. SO,, N,O,

Example for antidepressant drug
A) Prontosil

B) Ranitidine

C) lproniazid

D} Heroin

Name the catalyst used in the
following reaction.

4 HCI(m +0,, 2Cl, + 2H,0

A) ZnCl,

B) SnCl,

C) CuCl,

D) PdCl,

Phosphc;rous trichloride has a
structure in

which phosphorous is

hybridization.

A) pyramidal, sp®
B) 'pyramidal, sp®
C) bipyramidal sp®
D) bipyramidal sp®

In the co-agulation of positive Sol, the
flocculating power is in the order of

A) PO > SO > Gl > [Fe(CN)J™
B) CI' > PO, > SO, > [Fe(CN)J"
C) [Fe(CN)J" < PO, <80, <CI’
D) [Fe(CN)J">PO,”>80,” >CI’

Page No. 25

81.

B2.

83.

84.

85.

el SiTFETES ¥ IEW B
A) CO, NO, GO,

B) CO, S0,, SO,

C) €O, NO, NO,

D) CO,, SO,, N,O,

wRiaTaae S = IETEW
A) Wi

B) {erEa

C) AR

D) &

frefafaa s & srea IeTeh M

FaT |
4 HCl,

A) ZnCl,
B) SnCl,
C) CuCl,
D) PdCl,

AR wheRE  wwE |
A) fuified, sp?
B) falfurea, sp®
C) afifEa sp?
D) sfuifrew sp®

+0

stg) 2Cl, + 2H20

T Gt % e § 30 T A 8
A) PO >S50, >Cl > [Fe(CN)J"
B) CI > PO, > S0, > [Fe(CN)J™
C) [Fe(CN)J* <PO,” <80, <CI
D) [Fe(CN)J* > PO, " >80, >CI"

5 JCECE (P&C)



86.

87.

88.

89.

Name the highest number of oxidation
states shown by an element of first
row transition metal

A) Fe
B) Cr
C) Mn
D)V

Among the alcohol which one is highly
reactive with hydrogen halide

A) CH,OH

B) CH,CH,OH
o

C) CH,— C- OH
Ch

D) CH,~ CH-OH
CHs

Rate constant units for first order, second
order and zero order reaction is

A) mol L-'S™', S and mol™' L §'
B) mol' LS, S and mol L' S~
C) S, mol”' L §' and mol L' §'
D) S, mol L' S and mol- L S~
The product ‘A’ of the following
reaction is

COg+ 2Hyg

A) HCHO,,

B) CH,OH

C) H,0

D) CH,OH + H,0

Cu/Zn0 -Cr,0,

Page No. 26

> A

0 00 A

86. WO Ui ¥ TN UTg ded ERI 9IS 7

87.

88.

89.

AreRaT IT=E AT I AW TR |
A} Fe

B) Cr

C) Mn

D) V

T 4 TIESIoH engs & WY I
ffsrasie sTehiETe &
A) CH,OH
B) CH,CH,OH
o
C) CH,— C- OH
Chy
D) CH,— CH-OH
CH,

werm Sufy, feefrer droft of 3 Aot arfsfran
3 forq =t e 3078 @ _

A) mol L' S, S 3sfltmol' L S

B) mol' LS, S~ 3ft mol L' S~

C) S, moi' L S~ afkt mol L' S~

D) S-!, mol L-' S~ 3fA mol~ L $7

Frafeifaa sl =1 399 ‘A’ R
Z =

CO .+ 2H,, Cu/Zn0-Cr0;
A) HCHO,,
B) CH,OH
C) H,0
D) CH,OH + H,0

5 JCECE (P&C)



e i R

10 0 0 0 L O
90. One among the following posses zero 90. 37 @ T YA f§ A& TR T 2
dipole moment A) H,0
A) H,O B) H,
B) H, C) NH,
C) NH, D) HCI
D) HCI
91. Name the polymer which is used 91. T4 Fgeh I AT FATY S g 9@
for nonstick surface coating and it i ST 3 S € § 371 300°C a
decomposed at temperature above 7R % Ao W Raid S R |
300°C
A) polyester A) i 5'}53:
B) Teflon B) &%
C) Orlon C) aTRFﬂﬂu
D) Nylon D} =&
92. The conversion of molecule Ato B foliows 92. A ¥ B o # afEdA facfia soft i R B
second order kinetics. If concentration Aﬁaﬁmwwwaﬁnﬁ | T8 BH e
of A is increased to four times, how will i
. uaifad [
it affect the rate of formation of B R H F o |
A) The rate will increases to 16 times A) T 16 Yo =g STt |
B) The rate will decreases to 16 times B) = 16 o 5 St |
C) The rate will increases to 8 times C) & 8 TN &g St |
D) The rate will decreases to 8 times D) & 8 Tun ¥e S |
93. Choose the equilibrium constant for 93. Fefifga sfufen 6 Relm afifen +
the reverse reaction for the following meﬁﬁq |
reaction. H | oM
Hyg + by = 2Hl 20t 2w T <)
2 HI
N o= RIT 0 =Rt
[H ][]
HIJ?
HIf N L
B) K. = S{HIC ¢ N
A [Hal[;}
C) K _[Hz][|z] ) KC=L_[::!_E|;_
c 2
[HI]
D ,_[He A D) K¢ = [Ha] [_:2]
) Ke =TI [HI]

5 JCECE (P&C)



94. The crystal defect shown by ionic
substance with large difference in the
size of ions and almost similar sizes are
named as

A) Schottky defect and Frenkel defect

B) impurity defect and metal excess
defect

C) Frenkel defect and Schottky defect

D) Metal excess defect and Schottky
defect

98, Find out the product ‘A’ of the
following reaction.

NH

@’ ? + CHCY, + 3KOH

_heat | A+ 3KClI+3H,0

OH
A)
|
ley
|
C)
H

NC
g

T O U 0

94, 3T & AR ¥ ATereh TR SR T &R
AHR T A= g g gwie M e
21 1 A

A) Thizsh! 3y 3 Hoha d
B) IFedl A 3 arg ST Iy
C) S i T
D) g it i iR whieshl 3w

95. f=fafaa vfamn & 3o ‘A’ Sl I[
|
NH

@’ ® + GHCI, + 3KOH

ST
—— A+ 3KCI+3H,0

OH

A @’

HO

NC
"



96.

97.

D A L

Calculate the mass percentage of
benzene (CH,) and carbon tetrachloride
(CCl,) if 38 g of benzene is dissolved in
122 g of carbon tetrachloride

A) 23.75,76.25
B) 76.25, 23.75
C) 75.23,25.76

D) 25.23,75.76

Choose the one, which posses
highest acidic strength

NO,

o (o

0 (e
NG,

s O

96. R Al 38 TTH e TS F

122 g & v e A FefiT (CgH,) 3
e FeEATES (CCl,) F Wi T
T ShITIT |

A) 23.75, 76.25
B) 76.25, 23.75
C) 75.23, 25.76

D) 25.23, 75.76

g7. waties seia i arwen IHT |

NO,
as
, O
NG, |
O

5 JCECE (P&C)



98. Steam reforming process involves

A) CH, +H,0 _MIO , co+3H,

B) CH, + H,0 — N2, €O +3H,

C) CH, +H,0 —222,

MnO

D) CH, +HO0 —— CO +3H,

99. Choose the reagent A and B used for

the following reaction.

™
—

B X
— +N2

A} NaNOQ, + HX, Cu,X,
B) Fe, dark

C) Zno + Hx CuX,

D) Cu,X,, NaNO, + HX

272

100. Monomers used for the synthesis of

Glyptal are

A) Ethylene glycol, phthalic acid
B) Urea, formaldehyde

C) Vinyl chloride, Phthalic acid
D) Phenol, Formaldehyde

CO + 3H,

U A AT

98. afiT wqiEw § e @

A) CH, + H,0 —M3C , co+3H,
B) CH, + H,0 — N, CO + 3H,

C) CH, + H,0 —22, CO +3H,

MnO
D) CH, + H,0 ———— CO +3H,

99. FreAfRaa sfrfn 3 R v v

100.

AR BT I

—
B X
—_ @ +N,

A) NaNO, + HX, Cu,X,

'B) Fe, it

C) Zno + Hx Cu_X,
D) Cu,X,, NaNQ, + HX

2’2

frereer & Fmfor 3 T The &

A) 3uTEein TEEEHIE, FuTTeh 3R
B) g, wHeisese

C) e Teiugs, vaferh S

D) frier, wniafeere

Page No. 30
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Answer Key for JCECE (Physics and Chemistry) (Set-A)
Q. No. | Answer Key Q. No. | Answer Key

1 A 51 A
2 A 52 A
3 D 53 B
4 A 54 A
5 C 55 A
6 A 56 A
7 B 57 A
8 B 58 D
9 A 59 C
10 C 60 B
11 B 61 A
12 C 62 A
13 C 63 C
14 A 64 A
16 C 65 A
16 B 66 D
17 D 67 D
18 A 68 C
19 C 69 D
20 B 70 A
21 A 71 A
22 A 72 A
23 A 73 B
24 A 74 c
25 B 75 cC
26 D 76 D
27 B 77 A
28 D 78 9
29 cC 79 B
30 B 80 A
31 B 81 C
32 c 82 C
33 B 83 C
34 C 84 B
35 B 85 D
36 B 86 C
37 c 87 C
38 D 88 C
39 B 89 B
40 cC 90 B
41 D 91 B
42 B g2 A
43 C 93 D
44 c 94 C
45 A 95 D
46 D 96 A
47 D 97 A
48 A 98 B
49 A 99 A
50 D 100 A




